
   

 

𝑘 𝑓(𝑥) 𝑔(𝑥) 𝑐

 lim
𝑥→𝑐

𝑘 = 𝑘

 lim
𝑥→𝑐

𝑥 = 𝑐

 lim
𝑥→𝑐

𝑘 ⋅ 𝑓(𝑥) = 𝑘 ⋅ lim
𝑥→𝑐

𝑓(𝑥)

 lim
𝑥→𝑐

(𝑓(𝑥) ± 𝑔(𝑥)) = lim
𝑥→𝑐

𝑓(𝑥) ± lim
𝑥→𝑐

𝑔(𝑥)

 lim
𝑥→𝑐

(𝑓(𝑥) ⋅ 𝑔(𝑥)) = lim
𝑥→𝑐

𝑓(𝑥) ⋅ lim
𝑥→𝑐

𝑔(𝑥)

 lim
𝑥→𝑐

𝑓(𝑥)

𝑔(𝑥)
=

lim
𝑥→𝑐

 𝑓(𝑥)

lim
𝑥→𝑐

 𝑔(𝑥)
  lim

𝑥→𝑐
 𝑔(𝑥) ≠ 0 

 lim
𝑥→𝑐

[𝑓(𝑥)]𝑛 = [lim
𝑥→𝑐

 𝑓(𝑥)]
𝑛

 lim
𝑥→𝑐

√𝑓(𝑥)
𝑛

= √lim
𝑥→𝑐

 𝑓(𝑥)𝑛    lim
𝑥→𝑐

 𝑓(𝑥) > 0  𝑛  

𝑓(𝑥) = 𝑔(𝑥) 𝑥 𝑐

𝑐

lim
𝑥→𝑐

𝑓(𝑥) = lim
𝑥→𝑐

𝑔(𝑥)

 (𝑥 ± 𝑦)2 = 𝑥2 ± 2𝑥𝑦 + 𝑦2

 (𝑥 ± 𝑦)3 = 𝑥3 ± 3𝑥2𝑦 + 3𝑥𝑦2 ± 𝑦3

 (𝑥2 − 𝑦2) = (𝑥 − 𝑦)(𝑥 + 𝑦)

 (𝑥3 ± 𝑦3) = (𝑥 ± 𝑦)(𝑥2 ∓ 𝑥𝑦 + 𝑦2)

 (𝑥𝑚 − 𝑦𝑚) = (𝑥 − 𝑦)(𝑥𝑚−1 + 𝑥𝑚−2𝑦 + 𝑥𝑚−3𝑦2 + ⋯ + 𝑥2𝑦𝑚−3 + 𝑥𝑦𝑚−2 + 𝑦𝑚−1)



   

 

𝑓 𝑓′ 𝑥

𝑓′(𝑥) = lim
ℎ→0

𝑓(𝑥 + ℎ) − 𝑓(𝑥)

ℎ

𝑓′(𝑥) 𝐷𝑥𝑓(𝑥)
𝑑𝑦

𝑑𝑥

𝑢 𝑣 𝑥 𝑐

𝑑

𝑑𝑥
(𝑢 + 𝑣) =

𝑑𝑢

𝑑𝑥
+

𝑑𝑣

𝑑𝑥

𝑑

𝑑𝑥
(𝑢 − 𝑣) =

𝑑𝑢

𝑑𝑥
−

𝑑𝑣

𝑑𝑥

𝑑

𝑑𝑥
(𝑐 ⋅ 𝑢) = 𝑐 ⋅

𝑑𝑢

𝑑𝑥

𝑑

𝑑𝑥
(𝑢 ⋅ 𝑣) = 𝑣 ⋅

𝑑𝑢

𝑑𝑥
+ 𝑢 ⋅

𝑑𝑣

𝑑𝑥

𝑑

𝑑𝑥
(

𝑢

𝑣
) =

𝑣 ⋅
𝑑𝑢
𝑑𝑥

− 𝑢 ⋅
𝑑𝑣
𝑑𝑥

𝑣2

𝑑

𝑑𝑥
(𝑢(𝑣)) = 𝑢′(𝑣) ⋅ 𝑣′    ó   

𝑑

𝑑𝑥
(𝑢(𝑣)) =

𝑑𝑢

𝑑𝑣
⋅

𝑑𝑣

𝑑𝑥

𝑢 𝑣 𝑥 𝑐

𝑑

𝑑𝑥
(𝑐) = 0  

𝑑

𝑑𝑥
(𝑥𝑛) = 𝑛 ⋅ 𝑥𝑛−1

 
𝑑

𝑑𝑥
(𝑥) = 1  

𝑑

𝑑𝑥
(𝑢𝑛) = 𝑛 ⋅ 𝑢𝑛−1 ⋅ 𝑢′

 
𝑑

𝑑𝑥
(𝑐𝑥) = 𝑐


